THIS DRAWING PRODUCED ON THE GREAT LAKES REGION MICROSTATION SYSTEM

KA\ AuroraAp\0428504 \Oraw \Sheets\FAA LS OGN'e, CMT mad. 5-10-05N\ARR-D-GS33-S0%.dgn

571072008

SREFSE

5:07:04 PM  SNAMES

5

50’ (SEE NOTES 2 AND 73

44'-0" (SEE NOTES 2 AND 73

-
)
5’ DRANGE TOP SECTION. AN
SEE NOTE 7. —\\\ h ;-l THOMPSON #32
P > ﬂl DOWN CONDUCTOR v
\"\< g s ‘ ’,- 3/8" S.S. LOCK WASHER
T n k‘l‘! 3/8"-16 5.5, HEX NUT
L ANTENNA MDUNT ING
X FRAME SECTION
N g
- — 3/8” §.5. LOCK
.y / WASHER
B 3/87-16 5.5,
HEX NUT
TOWER LEG CONNEGT DN S
PER DETAIL “5“ (TYPICAL). “~
SEE NOTE 1.- AN
‘
N
GROUND ING LUG
j PER NOTE BL
5’ ORANGE SECTION. ‘
e S PRt
‘
N
“>‘u ANTENNA MDUNTING FRAME
ANTENNA MOUNT ING FRAME =7
ANTENNA — | LM
e i R B ke
Hi
L 5
R Oy
: %g( v
r.égg "‘\"VNA'
N T
Pl =
o>
R
20' ORANGE/WHITE I | P
SECTION. SEE NOTE 7. ‘
X
- e i}
2 !
=4
N ANTENNA ELEMENT MOUNTING BRACKET
2 AND _ANTENNA TOWER _CONNECTIONS
4 iy
w Tee— DETAIL
Z Tl ANTENNA ELEMENT (TYPICAL SCALE: NONE
N OF 3). SEE DETAIL “2" FOR
° MOUNT ING DETAILS.
= RAIL CARRIER
= SPLICE PLATE
>
W4
o) ‘ \ 4
& <y
g ﬁ
s
‘ TE BOTTOM u
B ZRcrTon. e NoTE T Y ‘ ——ANTENNA HEATER AND OBSTRUCTION
N st i K
y IN[ONUE i TYPICAL SAFETY CLIMB
! SN RAIL SPLICE JOINT
T N 7 ~
<y DETAIL
ﬁ : SCALE: NONE
B 7 RAIL CARRIER
1 ﬁ f
D
éf, 3/8“-16 HEX NUTA
L[> CONCRETE FOUNDATION (TYPICAL)

nya,

OBSTRUCTION LIGHT PER DETAIL
DWG ARR-D-GS33-E01

AIR TERMINAL PER
DWC ARR-D-GS33-E01

PER DWG ARR~D-GS33-CO1

§

3/87-16 X 1 1/2" $.S. HEX BOLT
LOCK CHANNEL (TYPICAL)

ANTENNA MOUNTING CHANNEL—y

5/16"~18 X 1" TAP BOLT

3/8"-16 X 3" TAP BOLT

LADDER RUNG CLAMP

ANTENNA TOWER LEG
(ONLY ONE LEG SHOWN
FOR CLARITY}

ANTENNA TOWER
CROSS-BRACE
GROUND ING CLAMP.
SEE NOTE 6.

3" U-B0LT CLAMP,

3/8“~16 (TYPICAL
OF TWD PER LEG)

NOTES:

. ANTENNA TOWER LEG TO WHICH GROUNDING ASSEMBLY IS BONDED, SHALL BE TACK-WELDED AT THE BOLTED CONNECTIONS
TO PROVIDE ELECTRICAL CONTINUITY BETWEEN THE TOWER SECTIONS.

2. THE LADDER SHALL BE INSTALLED ON RICHT SIDE OF ANTENNA TOWER WHEN LOOKING TOWARD RUNWAY THRESHOLD.
CENTERLINE OF LADDER SHALL BE COINCIDENT WITH THE CENTERLINE OF THE ANTENNA TOWER FACE TO WHICH IT IS

BEING ATTACHED., .

3. THE CONTRACTOR SHALL INSTALL ANTENNA BRACKET ASSEMBLIES (3 REQU
HORIZONTAL ITEMS SHALL BE LEVEL AND VERTICAL ITEMS SHALL BE PLUMS.

g?ED) AT HEIGHTS SHOWN PER DETAIL *I".

4. TOWER SHALL BE ASSEMBLED WITH ALTERNATING ORANGE AND WHITE COLORED SECTIONS,

5. CONTRACTOR SHALL ERECT TOWER TO FULL 50’ HEIGHT. ANTENNA ELEMENT LOCATIONS WILL BE ADJUSTED BY FAA
INSTALLATION PERSONNEL TO ACHIEVE BEST SIGNAL GENERATION, CONTRACTOR SHOULD INCLUDE IN THE BID A SEPARATE
TENATIVE COST ESTIMATE TO RETURN TO THE SITE AND SHORTEN THE TOWER TGO 5-0" MAXIMUM HEIGHT ABOVE
CENTERLINE OF TOP ANTENNA ELEMENT. THIS WILL REQUIRE THE CONTRACTOR TO CUT ANTENNA TOWER STRUCTURE.
LADDER, AND SAFETY CLIMB RAIL AND RELOCATE AIR TERMINAL, DOWN CONDUCTOR, AND OBSTRUCTION LIGHT TO TQP
OF SHORTENED TOWER. TOWER LEGS SHALL BE CAPPED WITH PIPE CAPS WELDED OR THREADED IN PLACE. NON-CONTINUOUS
CROSS-BRACING SHALL BE CUT AT ITS ORIGIN,

€. FIELD-DRILL 3/8° DIAM. HOLE N ANTENNA MOUNTING FRAME, SCRAPE PAINT FROM BONDING AREA AND INSTALL GROUNDING

LUG AND #6 BARE COPPER GROUNDING WIRE.

CONNECT #6 BARE TO ANTENNA TOWER STRUCTURE USING GROUNDING CLAMP.

7. SEE THE GOVERNMENT-FURNISHED PROPERTY LIST FOR ITEMS PROVIDED BY THE FAA.

CALVANIZED STEEL
LADDER. SEE NOTE 2.

GALVANIZED SAFETY
CLIMB RAIL PER
DETAILS “3" AND "4“.

ANTENNA MOUNTING CHANNEL
SUPPORT ANGLE (TYPICAL

DF TWD PER LEG)

3/8" S.S. LOCK WASHER
3/87-16 S.S. HEX NUT

( : )DETAIL
SCALE: NONE

TOWER LEG

172" U-BOLT
(TYPICAL)

ANTENNA_ TOWER
/ CROSS-BRACE
s =

GALVANIZED SAFETY CLIMB RAIL
//—PER DETAILS “37 AND “4".

172" GALVANIZED U-~BOLT

\-ANTENNA TOWER CROSS-BRACE
GALVANIZED STEEL

LADDER. SEE NOTE 2.

ELEVATION
LADDER ATTACHMENT TO ANTENNA TOWER

7/8"-9 X 2 1/2"
HEX BOLT (TYPICAL)

GALVANIZED LOCK WASHER

GALVANIZED T7/8"~38 HEX NUT

TOWER LEG

( : )DETA]L
SCALE: NONE

CONTRACTOR SHALL SUBMIT REQUESTS FOR
SUBSTITUTION OF SPECIFIC
ITEMS SHOWN PER PARAG

MANUFACTURER’S
RAPH 10F THE

SPECIAL SPECIFICATIONS.

SHEET 48 OF 67

DEPARTMENT OF TRANSPORTATION
FEDERAL AVIATION ADMINISTRATION
GREAT LAKES REGION

CHICAGO, ILLINOIY

GLIDE SLOPE

ANTENNA TOWER ASSEMBLY DETAILS

50’ GLIDE SL(EOL‘;EEV/:\\A«R?SNNA TOWER TYPICAL SAFETY CLIMB AURORA AURORA MUNICIPAL AIRPORT L
RAIL LADDER RUNG REVIEWED Y
DETAIL
SCALE: NONE DETAIL PROJ ENGR, THDTHY DIER [F:;ﬁTFORM ViGR; CTiL:ND TR
SCALE: NONE o 10| LCAGO NAS o QZ(21£2006 o
Revl  pate DESGRIPTION Jon REDLRE ievp CHECKED ;:: |MPLEI‘£EI(%‘EF§T|ON ARR-D-GS33-501
8 | / I 6 3 + 4 3 2 1 | SH;:T




